Question 1 if Ais a3 x 3 matrix with nullity(A) = 0, then Az = (1,2, 3)T has infinite number of solutions. q

Correct
Marked out of Select one:
1.50
v Flag True

uvestion
“ False

The correct answer is: False

Question 2 If S is an n X n transition mairix between two bases for a vector space V, dim(V) = n > 0, then
Correct Illluity(S) = n
Marked out of

1.50 Select one:
¥ Flag
question False «

True

The correct answer is: False o
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Question 3

Correct

Marked out of
1.50

¥ Flag
question

Llet E = [(1,2)",(3,7)"] and F = [(1,—-2)", (3,—5)"| be two ordered bases for R?. Then the

transition matrix from F'to E'is

Select one:
-5 3|[1 3
2 —1]|2 7}
7 -3][1 3 } v
—2 1]|[-2 -5
-5 =3][1 3]
| 2 1112 7]
7 -3][1 3]
2 1]|2 5]

_ [ 7 —3] [ 1 3]
The correct answer is:
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Question 4 1 1 1 e
Correct A basis fortherow spaceof A= |0 1 1} is
Marked out of 1 2 2
1.50
v Flag Select one:
guestion
{(1,0,0)7,(0,1,1)"} v
{(1,1,1)"}
{(1,1,1)%,(0,1,1)%,(1,2,2)"}
{(0,1,1)",(0,2,2)"
The correct answer is: {(1,0,0)7, (0,1,1)T}
Question B a —b
f A is a matrix of the form , where a,b € R, then rank(A) = 2.
Incorrect a
Marked out of
1.50 Select one:
¥ Flag
question False
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Question & The transition matrix from the ordered basis [1 + z,1,1 + x + %] to the standard basis [1, z, %] is e

Correct

Marked out of Select one:

1.50 ) )

¥ Flag 01 1

question 1 0 1
0 0 1]
(1 1 1] v
1 0 1
0 0 1]
(1 1 1]
0 1 1
0 0 1]
(1 1 1]
1 1 0
1 0 0]
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The correct answer is:
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Question 7

Correct

Marked out of
1.50

¥ Hag
guestion

1
Therankof A = | 2
5!
Select one:
4
1
2v
3

The correct answer is: 2
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Question 8 The coordinates of p(z) = 2z? 4 3z — 4 with respect to the ordered basis F = [1,1 + z,1 — x2]is q

Correct
Marked out of Select one:
1.50
T
¥ Flag (_3’ —3, 2)
i

guestian (_5’3,_2)11 v

(1: _33 _Z)T

(—9, 3:2)T

Fea T
The correct answer is: (—5, 3, —2)

Question 9 We cannot find a 7 X 7 matrix A with rank(A) = nullity(A).
Correct
Marked out of Select one:
1.50
v Flag False
question

True ¥
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Question 9 We cannot find a 7 x 7 matrix A with rank(A) = nullity(A). q

Correct
Marked out of Select one:
1.50
v Flag False

;
question True V

The correct answer is: True

Question 10 f A is an n X msingular matrix, then rank(A4) < n — 1.
Correct
Marked out of Select one:
1.50
v Flag True ¢
question B

The correct answer is: True
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